Jame  Name:

" Dividing by 10 & 100

Solve the equations.

1.647+10=____  1.478-10=_
2.991-100=____  2.663:100=__
3.36.2+10=____ 3.96+10=

4,557+100=____  4.196:100=_

6.21.6 +100 = 6.37.4 =100 =

7.77.6 +10 = 7.41+-10-=
8.35.9 +100 = 8.77.2+100 =
9.23.3+10= 9.825+-10+=

10.19.7 + 100 = 10.56.6 +100=___

Worksheet 2




Jame  Answers

" Dividing by 10 & 100

Solve the equations.

1.64.7+10=6.47 1.478+10=4.78
.99.1+100=0.991 2.66.3+100=0.663
.36.2+10=3.62 3.96 -10=0.96
.55.7 +100=0.57 4.19.6 - 100 = 0.196

.89+10=0.89 5.82.3+10=8.23

.21.6+100=0.216  6.37.4+100=0.374

77.6+10=7.76 7.41+10=0.41
.359+100=0.359 8.77.2+100=0.772
.23.3+10=2.33 9.825+10=8.25

10.19.7+100=0.197 10.56.6 + 100 = 0.566

Worksheet 2




